G

JAS-ANZ

ISO 9001

HHE BRLEE

System

ing

Jasonry Reinforci

eiltec

/

et 5







Daeiltec « 2| AfA7H

DaeilTec

2005

2007

2009

2010

2012

el g

chart

x Xl
=

=
C
Organizational HEOI AI’

° Company History
ME|E HEC = A2 SHLE|0f HtD HZ2F A= 7ML= o2E 2O

7
Chotd = UARS X3 232 2ol 82 o g A0|H of2&2 2=

05.23  FA3|At CHYE B (M= % =01Q)
= C

06.01 H13E &%

11.07 233 2 (55 THT o/ YN 482 540-3)
FEUZ fgez

03.29  A23% 34 (@537 4R4EED)
08.03 M2 AMR: DB (Mg MxT XIS 2806)

05.30 A& AFRA O (Mg 2T A
06.17 EALO|H (55 Xz ojgd

HOLE BLOCK 7jj2tet=

Z2 xZESE dAY gy gy AU FLNUYT Auxmigs o

A o..o.
DaeilTec | o2




DaeilTec

100X100X3.2T
- 100X100X4.0T JHIlE O X2 AFO|HFQ A K
CE)MR:IS. X I00KA OT <32 S5400 78 2 AE Aolgfo] Ax|
A = | 150x100%5.0T 2 EN7tES Al SIEEAMEOR MK
(XEOH:I.) 170X100X5.0T £3Y9: 8801k (E3] | 10-07136753)
TEOo= 170X100X6.0T -
180X100X6.0T
100X100X7.0T
130X100X7.0T
150X100X7.0T
DMR-A Egi]gg;gg FXE : SS400 IS B AR AolEkof AX|
B F | kooxeor | TR 880EES | BTtes Al siEEMEOR AX
180X100X9.0T
190X100X9.0T
200X100X9.0T
E DMR-A 220X120X7.0T
PLEMHZ 250X120X7.0T T2 : SS400 W G Jedo 24
o -do o PR
2Rt 270X120X7.0T | E24d : 280193 EN7 =S A SIEEAMRO 2 MK
(BEE0) 320X120X9.0T
7E:I o xf ol X0 Mt
QK| L7} M16X100 C o ool o R0l R45t0] F=tsh (X0 AlS
MieX125 Chs Zolot E32|E TS0 ALE
2 L ., | CEmocaer Z30|E WK £e ST RIS
C?:il I?é =H:50,70mm = o = bakel F SN - [
_TI_I-IX-l =1 85,100,120mm TIHE: Ol'gjol‘ﬂ —|01| —T'—OO}'O;I, —L—|4—01| EEAlalt
S=E . THEE T, Y20 22,
[&4150X32X16T
ZF
(=)
of 74 mf 058 FIE : PVC AtZan2[ot oto|oj o] AZ $=Al5tE Q|
== (MERO=AE) | 24 ZHE| FHRA
Al‘jl'_Tl_El 50,75,100,120 =Tl opoiZt A I¥EEN HEms A4
U 150,170,200mm v EeE TAStE| B4t AH X0 =H R K|
L B4 ]:50X30X1.6T = o 25| = 80| DHSO
= 2/0:70,90,100 _ SX £= 232 EHN 0Ys
o = 1 7Y KIHE'OI'QJLU"'
nEspspE= 120,140,150,160 T lEe e RO M= TREHE,
=O=E | 170180,200mm = Tes=
£:400,1000mm FMZE:9mm &= o
AO|HEMI E i Eggﬂ:ong W S HE dgo 2K

03 | DaeilTec




& b
= < =
o 1 L m_v I~
E 1 AR - iy
= 3 S o J
=
X “_._u _.._Iﬂ_u Kl 53 W oM
il o] - — .
m_m = > m i 5 w9 ol
— = < o] fou ._u_.m_ J_ 3 |
2 ol K w0 X0 <% R (3 )
__u_w Hio .__A..__u “oM n E_E _Al_u % mo
s K K N F e g * .
Bt o o7 ____.__E mu oK mﬁ = o1 _U_H
- gl = T = ®
[} L Kq Mo Ki W o © Kq Kq
5} ol - o Fu a3 U + H
O
o o DV., _.rﬁ (@) bp 5__ﬂ_ X 3 .rm
ey — C —
% 3 B ol 2 ) W Jorp 5 5
> Bl 5 ° - - Kl Z0 KOR v c o3
1 I ok 3 3 W o--EK = i
= = w2 K- ki W s il =
KK K- =3 R KF 10
K- H
£ = =
- 1S o o n o
i EE 5 232 3 9 i 29 =3
I8 i3 S Sisis 8 3 i S 2 NS
5 s < RRS 2 3 5 s3 oS
0 “_.__.:T N 1 0 e SIS
T W | M__H = 0lo L < xl
o3 ol uu.uH _”__.o o0 Tl _._.H b
S E Kd o o od afl o R

JEH

A - [ )
DaeilTec |o4




OF~PNI- g~

1. DMR-S =22 9|X|27} M12X100mmE @320mmO|Llf ZtH oz AMX|s
Hof| AX|$tCt.

2. W29 A7|= ZXEHN Q| ot Mo w2t "o ZICE (oM -20mm ~ -30mm7F X

2
rH
L
it}
|m
oo
1%
=
rir

OH% .EI.7=| OI)

ox
g
4o

DMR I 1

DMR-M 2& A3 2|
DMR-G E-Hj4=7 @600 )
1 /A -N 97} M12X100 @320

olug Hetus

wel, 320tz

DMR-S FE %= 100X100X4T

SFN/HE (T7|0tA =)

DMR-N 7} M12X100 @320

DMR-S F=E %= 100X100X4T

A o..o.
os | DaeilTec DMR-S %2 M%|&




OF~PNI- g~

1. DMR-A Y22 X247} M16X100mmE @450mmO|Ly ZtZH o2 AX|slof 232|E 28
Hof| AX|gtCt.

2. W29 A7|= ZXHHNC 55 A7|0 L2} CHECT.

J
rir

SFN/HE (H7]0tAES) SFN/HE (T7|0tH=S)

DMR-A %2 DMR-A %=

DMR-N 7} M16X100 @450
DMR-N &7} M16X100 @450

DMR AHolut ME
400mm 7tZ o2 x|

DMR-B A& H=X

o
np

DMR-A

WA

A

DMR-M EEtA3 2|

[}

MY

AN

DMR-G &= @600

DMR-N &7} M16X100 @450

A -..o.
DMR-A 942 4% U AfolgH ME HX|E DaeilTec | o6




w N =

JE ox mx = rh nx

>+
JEELIJ—E
m CE

(@)
(@]
14
O
(@)
(@]
3
3
>
Ot
N
(@]
(@)
3
3
14
(@)
(@)
(@]
3
3
o
=
=2
x
>
4T
Ok
2
>
!
ot
>
30
0
=

F_

oF >t

PE2 Z3LE B8 E UGUN) 52 Z=9

ojn
mjo
-

H&

rot
0

600~900 600~900 600~900 600~900

400~600
400~600

400~600
i
B
400~600

s

i
B
400~600

400~600

DMR C& nHHE DMR Apzt g

DMR Atztna

A g Bog

A o o..o.
07 | DaeilTec DMR C& TAMS MA|ud g 25




400~600

2aze Yy crey 600~900

-----

2H =)

DMR Apztng|

DMR S1Z

A o..o.
DMR C& HZHZ A|ZAME DaeilTec | os




- 0O
JE o> mx rh Nz

N

w

>
u ot

2t

400~600 400~600

400~600

o >
>

0% S MBX U WOl

o =

ZL2 600mm~900mm, A3} 400mm~600mm O|LHOI|A] MESLO A|ZS 4= o,
M1z K|SO
Hote e 228 = 32mm 23A2E 2 52 A8t

600~900 600~900 600~900 600~900

| 400~600 | 400~600

400~600

DMRIH 1HESZ

DMRIH 1¥ES DMR Azt 2|

DMR Afzt g

NE =) O

A - o..o.
09 | DaeilTec DMR & ITMMZ M|t ol 25

o




600~900

400~600

------

AH E ) .

DMR Atztm g w

DMR 1 Z T
% DMR 1%

& o

of=2 M ®3.2mm

%i nps|

Fs|
o=

A o..o.
DMR T8 HZIME A|ZAME DaeilTec | 10




o4& X| g

1. 232|E, 0|Z E= 23X HIEHZE HE0|C}

2. MX|12HAS 37|, 2HEISEO 2 600X600mm O|Lf ZHAOA Al&SE 4= QUCt
3. BN Of D ™Sl= BHHE ZE3 = 32mm 232|E 2 S8 AFESiCt

600 600
i i
| |

600 600

600
i
B

600

A o..o'
11 | DaeilTec DMR L& IAAS M|t 9l 25

o



IS
£
o
<
e
xl
=l
ro
LH
Bl
S
T
o ™
iU =
KO S
NEE
S S
— O O
o O O
s &I Ho
o <k <k

DMR-G E-Hj=7 @600

DMR-M S&tA3

U

IS
£
o
<
&
=
z
ro
LH
Bl
S

237|E

DMR-G &-Hj=7 @600

ofd == HM ©4.0mm

| 12

iiTec

N
Daei

I

mo

=
il
=
<0
Ho
=
il
ol
~NO
H
100

; —

WH o

e S

| ()




DMR-G

-/
22| =9t XEEE AO)

oMX|2H
2

a1

o A7

-
ols

== 7= N5t 0|2

S YRt 7| = 2

=
—
HH
-

b},

-
o
—

=3

AX|7ZHE 2 600mmE

]

il

Klo
Al

Klo
il

ojn

T ALo|of X

Khu
A

<t
IHo

:I'I'

w0 M -
= Ho o Ho
ZU o o wo

O 4 N m

DMR-G &7 @600
DMR-G &-Hj4=7 @600

DMR-G &-Hi5=7 @600
o
DMR-G &8 @600

L
i
.
I

ITec

N\
13 | Daei




i <
- —
Hio _ —
o= g . . 6D
— (@] ® w ooe
oK —_ = © "
|A & + [
- K wuo __“_ﬁ T
£ K o 5 <=
a] s o S a
o L 2 2 & =
Tr +
oF — - - o
— sl ©
D :
7o)
Llﬂ “Illm . - -
0z O ,
>3 DS e
| 3 MH
ol <| o] "
R ]r el
_._._._ wi |7r._ =
<k o = X
i = o0
" K ol © il
<0 .A_l._h — - <
z K 5 {ID
1 0z oo Al
ey == 0
I M ! >
or © ol mH | & <k
ol i T %0 | 10
K1 0% oy _“_____“______“__ 0
Mlul _uz m_. W
wr ._Ao m ._q_.l_ )
K m <0 m.__ i S S nﬁ M~ w__ % S
— un_wo O O I —_ 2 O
Do o S 0w 2opE DL op ¥
=0 . .__|n_v mu N\ oo K & oo a_ Mx W oW 4
F1 M0 T ™ = oo S A
o 0@ o1 2 ;g8 2 & ¢
T ar KOF o s ° 5
T Ho Ao o
O o ~ )




u| LH

=) sEEREEREEE 2 o

n HAAAAHHRH i £

oy HHHA AR 30

G g HHHAAAAAA] R

TR HHHHRHHRH] I
I

: |
jod
= — T e X
= W_._ﬂeﬂ — — EY il
S 2 Bl A I . <
(1]
1 RO — . o
oF o 2 I W it
K m
N E_E_._._E - - - m Eh
© w 5 4 S o
10 _ — - 7 o < _.Al_
_._.___._._ O|_H__||_.|_r0_“_ ~ &l =
o < 1F 3 [: ° - 0
%0 5 o0 - i Z
an e M 5 |l - o
rk Ty [ £
10l Hm._io_A._a - -
ol K = o o (il I I
71|
I <ol RO Il
o M=y ] [ I
SECE - HHHHH]
T GEVo L
Kl o =)
|__L LI_._.___.__._o_u — — |
H EWE_J I 0 ‘. €
228 ikl AR -
§ wXux HHHHHAHHE] N
G R sininisislalnlslnls =
o7 £ Uo gy X0 i
Xz 3G DU ‘S
or g 30 T XU =
Ho gzr = A ¢l ol
<K IR RO AU K —
O, O daom b




oZ XY™

1. Lyeto| A|HE

2. AX[UAZ 5t

1=
Ot tz=0f| 2t 600mm7bX| MEdSHY AX[2 & UM,

3.AHE HE =HA| OI0|Z B S 2XS = R 9| DjFHES =9 Al I, AZ T 2005

DMR Ofo| 22
DMR HEE
DMR 1A

NS
THK 50 EFE XY

AEHE

o

DMR 00|22 ME

| 400~600

400~600

THK 50 S+ X}

Be s UHE)

DMR 0}0| 22

DMR OfO| 2%

s s s

hE =) gl B

N o '-."
DMR O}0|2 2], EE MX|ut 9l 25 DaeilTec | 16




DMR-G &3 @600

I I R S . e e s — DMR-G 2 @600

1 _— — ]

= =

- ] 238E

= = cho

I 1 THK50 EFXY

T - 05B HEHE

- I

1 ]

= — DMR CY N HEE
[ | (@ 900X400)

I- -l DMR-S &

1 [ | TS

- 1 DMR-B A& t4x|
T == DMR-M 2&tA32l
e e e et 1

1 B —— —— — =—DMR-G &-H{$=7 @600 DMR-G &-Hf=7 @600
e e e s DMR-G S 7 @600 olutg Hetes

-I 2 %'
— DMR-N Q| X| 27} (@320)
—
[
\ -
| |
[ |
]
[
[]
[}
| ]
|
— 2%
nmnmmm -: DMR-8 &34l
DMR-G &+ @600

DMR-M ZEtAZ 2l

DMR-B HZ & =X|

DMR-N ¢ X| 27} (@320)

200

90
50

EEES
THK50 £+ X}

A ooces’
17 | DaeiiTec 470 (@22 = HE A HESS)



A (232 E+HEHS)

EPS

uf

(=]
o

)| g

= DMR-G EX7 @600

DMR-B é.*%tg#ﬂ\

DMR-G &-Hj=7 @600— DMR-S Z2dZ
olatg Met
DMR-N ¢ X| 27} (@320)

[HT"S
oN

DMR-B 4584

DMR-G E-H{4=T @600 DMR-S =242

pS
g A

DMR-N ¢ X| &7} (@320)

[T
oM i

HEE BEE)

232 E

058 HEHE NFE7|

A o..o.
4ol (238|=+HESS) DaeflTec | 1s



DaeilTeéc

¢

HA+E HEo0 F2AL =7

&
&

24

1) 100X100X7.0T @& (KSHAE) 2) 40T & Cha=H 5 7=297m  3) 100X100X4.0T FTEAHZ Z7=19.1m’
PN

=
poEX Ot_l?l__?,| _|':_;ng7°|- ’XE-I'I‘T%'-'?’IQ DM‘"E% E‘é

EEE M Y  »FEYNO BToz N2 297t g HHALQ)
o2 9letof DRSSt LOH. %ol 4502 KSAHE 55049 M52 =y

O HA
. i = =] = = == =] =+
ol g H=2 MEO| 7|FX| ECt I A LASHH 2 52| 5150| 22| X| X5H0], =X HH| Q|
o 9= = =] =
o2 A FESHEHSH7L Y5 ElC
( A
fLinteIsandShelfAn les ) * X|X|&A AFO|O] OlHIR H Q| X2 3o Rl
Lh{ehpmm!emppoﬂofbridtworkgove(mamycpenhgsbybeaﬁngcnhabrickwocﬁnnea:hsideafﬂ!e I |I:' I- | | oo E I-:l'l'—‘—o S | -IE“_
opening. They are not attached to the building structure. Shelf angles provide support for the brickwork above by CC o= MCIHEO| X |2k
attaching to the building structure. Sheff angles are at times referred to as relieving angles. L/600|=|_|_|_ 76mm9|-OE |j|_I"I'E—| © fl I_-IS
Steel for linlels and shelf angies should confrm to ASTM A 36/A 38N, Specification for Carbon Sticiural Steel, (MEHE ol HEEH)1/16in. (1.6mm)E EISHAM =
Steel angles should be a minimum of s in. (6.4 mm) thick. Al angles shouid be primed and painted as a minimum otE = Oj3o| AWEHY (&lH =g o
k}iﬂhhrtmrmsim,GstTzedmm;mmelmgmmbemnﬂdemdthEhemhmmsumas |_|'|_|I:|- E._ OE—l T%‘I‘I (Ol;_l_ = |_HX|)|_
s s XN SNl 24 238 NXT 4 Uk 37
Lintel and shelf defiection between jints should not exceed the lesserof L/G00 or 0.3 in. (7.6 mm olo_lol: -c',-H:l_
and the total rotation of the toe of the angle should be less than 'hs in_ (1.6 mm) The horizontal leg of all angies. ="
should be sized fo support a minimum of % the thickness of the brick wythe. \ J
Lintels should be installed over all masenry openings unless the brick is self-supporting. Lintels can be loose stes| |:||i- _75_5163§| 7|§7S 28B ?g%

kanyes_ stone, precast concrete or reinforced masonry. They should bear a minimum of 4 in. (102 mm) onbcid()

Kt2 | @ BIS Technical note 28B
(Shelf Angles)

@ HH7E|(e)tel =2l
ZHEA| oMo St ot A48F HoAZ|(e)gtel 2ol o
IE C

- EAAZof 2k 3 8 MNP0l EEbE.

—

(e =8 A3)

19 | DaeilTec
e



The Brick Veneer Wall System?2|

Axg wEe SuAEE oelsl 2T 20| B2 2 ¥R HEHE BHZO| 2oz
Theoh s7|A AL 2= MY Al E71s.
( . 3\
rodt. srocEascR
* 9 2 PLN STS/PLT STRS
o = BIG-EFF TOP
Fb = Fy(2400)/1.3 = 1864kg/m’ s azezsecco
14263/1846(Fb) =0773 <10 (Ok) 1.29663e 4001
e
* Jx_l EHx-IXE, — saresiescn:
HUHHHE = 1416mm i
KAt
2.8593262 4002
12966384002
3.615252-004
T
WAX © 900
KIN 1 2409
FILE: 100XL00X3
WIT: ket/emt
DATE: 08/16/2010
\ 21 0.6E )

1) Z5H30] o3t +1 XX 58 By

2) XTI Tt 2.

3) MBol Y, 530 B, YoIF (B, KA
MX|QIX S€ 0

4)ZF 18, CY, L8 1YEE

/Anchors \

Care must be taken to anchor the masonry veneer 1o the backing in a manner that will permit each to mowe freety,
m-plane, relative to the ather. Ancheors thal connect the veneer 1o the backing mast provide oul-ol-plane sup-
port, resisting tension and compression, but allowing shear. This permits in-plane differential movement between
the frame and the veneer withcul causang cracking or distress, Such anchors are shown in Figure 4, Carmugated
mmmmmmmmrhmw:wmwm

mmu ammmoll&n lS?mm onumcrwnc:l aluammnmola‘zn ala'mm

on canter honzantally. They must be securely attached through the sheathing 1o the steel studs. not 1o the sheath.

alone Around the ter of additional anchors should be installed at a maxsmum of 3 ft (914
mim) on center within 12 in_ (305 mm) of g,

A1l anchors must be embedded at least 1% in. (38 mm) into the brick veneer with a minimum mortar cover of %
in. (15.8 mm) to the oulside face of the wall. Anchors in Seismic Design Categories E and F must be mechanically
fastenad to horizontal reinforcement in the brick veneer as depicted in Figure 5.

Anchors transfer load between the brick veneer and either the studs or the stractural frame of the building. The
load that is transferred through a particular veneer anchor depends on many factors. Such factors include: anchor
stiffness; air space dimensions; the backing element the anchor is fastened to (the building frame or the steel
stud); where the anchar is fastened relative to the backing elements span; where the anchor is located relative to
the bick veneer's span; whelher any cracks have occumed n the veneer, slud stifiness; and embedment.

ket s il ey e b il oo e e oo 300 o e - 128 HZAN EX (0 lEES)

floor span that are attached directly to the buikiing frame. In ane test performed for this configuration, the anchor
connected closest to the shelf angle supporting the veneer camied just over 30% of the total out-of-plane load of

\ S R J * 3 ~ 5% : @900X400mm, @600X600mm

« DX Q|AF - * 1 XI
KtZ2et%| : BIS Technical note 28B 550l¢ - 58 600mm, =% 400mm
(Anchors) .7_+7—d|9§ AX|.

AN o '-.'.
The Brick Veneer Wall System?| && nae“Tec | 20



& MZTH A2H
- MZ=ZOIE (Movement Control System)
1) 45 % +80| 22|15 Sof FUHOE oIt 7 Y|,
2) SENOl B4 9 B s
3) MEEES S2BA0| 0.02% 257t 45°C A& If
A2 OF 0.03%O0|Ct RAMZX IHEHO| 2.7m S 00| M
5AmMmEE0| M2 CH2 SXYg N8,

=5 ZEATR, MFYUSX] ;g—l

1) =Xz 22X oxte el 25 === o

& Q% g4 <
2) 33 U 8719 30 A =2 HiE 243t
3) £20 £7| HER QI3 ot 2y of I

4) L5 M=o 2HE YA

RO TURES
—
& 16" 400 MM} ac

e OPEMHEAD JHMTS
@ 24 (600 N} a5

Spacing of Weep Holes

- J

AtZ 2% @ BIS Technical note 28B
(Weeps and Vent)

A - o..o.
21 | Ilaell'l'ec The Brick Veneer Wall SystemQ| 2%




fele:peu el

3

o
o
—

o

Folg =&7] Oj8|of

2!, o

ors
af

L SHj+7 0|8 %

—

| Ol

=

. O

%0
Bl
pa)ll
rk

| 22

ITec

N
a¢l

Ho= ZX| Zfofof &

9l

Dowel Bar

=

SEEE
=]

a1
o

M
=
SA

E
=

VS
~

.|

EQ| O]
R




4ar |
m_ .
o <
5 =3
Mﬂ fo-
T - :
_ == = !
“  [CHERERE 5
S 0 __ e e = <
S (=R i=NiE H_T
|u.u|_._._ ] =i — ,_..| ~_||u| : |__AIL
W 5 p[ENENIENEN =
o =r # il =
J_A—I _u_l_ 3 H—{ i |__‘_ ___.v |. i |__A|ﬂ
ﬂ _|E e R gy | e \
¢ [ENENEREN
J 0
oK Eal
=) Pl
rn vy
3 =)
4 g
o) o |
ao M .
< 0l o
o ) =
cf g i
© 0
._|m 3 i o
ol K - 3 <
of Y <
= B iy
1
@) 22h7 ¥ e
K = K w_._M 3 ¢ .._nlu
o e = ; w.m_ ar —_—
_.__._._ B Kr T
— = OK o : =
(T o B < {ee
e ol = _ —]
(1] KM f0 < ol S
= I &k o -
‘ 1 . 2




0jo
<
=)
=
<
[¢3]
o
all

- d=2 2AE|

MX|7{L} 3240

d=|0, HHO| £

HEA
=

0| ZM2| F20f

P

| 24

iimec

N
Daei




A=0| =3O| &
(_T'_xo“ %‘T"O| UZ A= 5.0t EZAAE E-T)
tAo 2 MX|SHC}.

<EX|E>
A% opZhof et 42 U R4 E 72 ZFs
=] = e | AtZto 2

Dl-'j:"-t T (B onEx;jﬁL B (LHIZEPQA_II;I;) -?—J|X|%|'5’|-
120mm 100X100X4.0T 50mm M12X100
130mm 100X100X4.0T 75mm M12X100
140mm 120X100X4.0T 75mm M12X100
150mm 130X100X4.5T 75mm M12X100
160mm 130X100X4.5T 100 mm M12X100
170mm 150X100X5.0T 100 mm M16X100
180mm 150X100X5.0T 100 mm M16X100
190mm 170X100X5.0T 120 mm M16X100
200mm 170X100X5.0T 120 mm M16X100

<DMR-S FTEU=Z>

PotEE 240t TR R0 X5 ZH A <

A =Rt

-

25 | DaeilTec

<DMR-B 3% Hf2X|>
®’s%8r
AR 20| AES o2 20| A
aropzCt
@ AiX|utH
WS AEH1S S
233|E HH o D'*'owﬂ H&bstCt
O YR0E HHE 9 EPYROE 1 It
DMR-S WZ(FE2UZ) A|AH A|ZALZ




.

@5 A EL
LHEFE Al AFESIH, 232|E Ao 2FES X &
80| oo =HHMV HE &= AS Y5t
Adgs oL

@ HXHH
Z32|E BNOf EtY 372 EFESI @900X400
(ZIEXMR)C 2 AL X| X212 MX|siC)

O 2ttt A| DMR-CH I HHES AR3ICE.
CHEXY SHof o2t 50mm, 75mm, 100mmE AR SHCt.

®7x
DYHBE) AL DE]+ AZ B O =R A

® S A ALO|0] ££30~50mm 32 ol g
SHO{0FE). (434X Ch )

<DMR-M 2EtA 32>
@752 8:
L9k 913 SHAO|O] |, X A| Hoix

Hi <=7t AEsHA FXE.

<DMR-J A=ZQIE >
@553 &

2 W=z AtH el =FUHo 2
@ LX|YH

rok

bt

ne
o
0L
Ral
rot
inl

HHZ0| 6~9mOtC} EX|SHH, fF+ 7 OiEH S /AF=2
Ste A0| Dj2tY 220 Qs E= Ul =80l E2

HZ|E ZZL= DhETtL.

<DMR-G E-H{j4=7>
@53 s8:
HRIMO| 28 22 HE AT, TR RS
QYO AT WS YR FCL
(477 S=2 0 o[s) 25|X| QOfof BLh)

A . o..o'
DaeilTec | 26




DaeilTec

ww

My || 2w | ul | E m..._ ul
wlwiw| |B g8 E Y ES g E e 2 |uuu o KW ER
mommm____awooroam.omqqqmmme_%ﬁ;momm
S8 |8 |7 | @A o A o Ho|mo| M58 7 |m K|S |t °

[E] Tl r n | - ar | = 15 K

:.;.;.m.1_.4_______________;.______4_,_ﬂ______aﬂ41mﬂﬂﬂm.z”;|.m___u_ﬂwﬂ
A R N R R E T A A I I E I E I M E T AR
MR I < 0 N | < N | o | ojw | e | = | © oH ol | = - | T il | m
VIR |R | <y < g (<m0 | Mo | | = | KX % | = |
o |[W | MHIF K| W \d i w|H W ERETEERE e i = _.__.__u K Mm Uk | o | = i+
o | ol R T R R S A I T R A L - s A e ol S K |9 = = | fr -
P 0| T Wilzo | ™| E i WA RS IR ) o) B ¥l RIE
< - | & |J0|d0|Zo|d0 | RO|Z @M U | | 20 2| 2| 30 ot | %0 Ho | X | 3o | gu
S 0| Zo| % | O oo | O ||| ®d <! | do | & Ro

ol R | Rd | = s

H.AI pl| _\A._” _\A._” ol | T m___ ™) ™) m._” M_____ M_” _M_Il m.E 7
<! el Bl B W | S0 | I | XMW | ZW | 0| XMW | YW | zw| B0 | XMW |oOF || S T = o= &l on | o X | 31 31
RS TR R R R R’ R AEIES T | N R R =
o 2 . NN X ~N [N I e O B R L IS - | 31 ol o ~
Iw___ucuumois_w___mhiu:uuu%.o.omﬂm.ﬂ_%amam.ﬂ%*g%ow_o_...a
< | O ﬂ M._ o | T | |oo|no|® | ®|=|MWo|>= |oll|H|%0| 30| o _M) 3 m.o = ._ML o | o Eo ._M._ =0

< Ho 30 KE | =0 < | B jod <! | %ol
— XXX |X XXX |X|X XXX |X|IX|X|X|X

R | Ho|Ho | Ho|Ho Mo Ho WMo Mo|Fo Mo HOFHo | RO|FO|FO|FO\FO | X |X|X|X %X (X(%(x|%
xTE,___,_____,_mmumumummumu%%%%%momoﬂxxA
KE K| KE | KE K K| KE | KE K K| KE | KF K K K| KF | KE K | £ | o Ao | Ho | o | o
I A R R R R R R A R R A I A R A A A A A A A AR AR A
T | F|F|F|T|5|T|5|T|5|F| 5| F| T T || R

ilTec

A
a6l

27 | 1




- 1] mm << mﬂo <
7% | = ME, B A (x| S| i
||| & w | SR S| 2 | ro =R o
Fo [ o | Fo | Fo o0 | e pw | B IE o kinl g2 ) g < oy W
o |u |V o | X Mgl S| | K| K DI ||| | w|uw WHE e F B | ul
||| S |n|® 2T« w | BRI EH| S o |°]o i
7 7| " | = || Y| ul ol 2 EIERIZNFIg EIF S C|W Elm|@ | S
o [N | NN ol | o | o [T MWa SRS EF(2T(°% g|x|d 122
< W E RN - N R AN AT ol H ol S| 2 | wo| gl i | M| FIE|Y @
okl | OH | OH | Of S| @ |9 ||| & |E H < g gy g M2 (2|0 |W | KX
il [ e e | ) iy et Bl |52 o | W | of O | o | o | < | o | NI
A A A AL R R 22 P %E IR IMEIMEIE I
o | U - | < | < = | N 1 ) Y X | | T i =
m | m [mo|m| 2| ~ Rllar o W._ | 2 | o 2 RO <] m B H__h_mv_ . .._M e
ol | o [ou|op| X |Ar|AF|© || Z | 8| oo D=3 or | B M B | W | g
o | T | T 0| - | & B’ wd | B o nO i
3 0 | K= T l@mlm| ™ z
fo | = RIS || 0
=T <+ K0
< |zu |z zu|zu |z | zu| o KE M__ RIEAREAEAEAR AR 1R
- b
Mo aamhaaaEM___Q_EWmhwammhmhmﬂm_u_wm___w_mﬂam___naﬁwum___
- “__m _*._o__u m_.._ o wm mw _*._2 &1 Ko M_ o | T | %07 | o | 01 | 4o | o | BO | AREE M Mm._ M T uﬁ.“ M
< T || % || T F T X |6 Rl o A =S
ZlE o F| x| R g M m R F a8 E e w | T
< ~ | ~ -
R R R R e R A A R R n S
< - | ~ X Mo | &
K- ﬂ H Mo | Ro | Mo | Ho | Ho| T | Ho|Fo|Ho|FHo| Ho|Ho| ol Ho Ho | fo | Ro | Ao | Ao | Ro L M_u_ WIL R HI S
" T (T ||| T =< m u
m 3|35 |3(3(3(3 033|333 3|3 |T|Z|Z|Z|3|3|3|p 0 R4z
ol = | Uk = |3

| 28

iiTec

N
Daei




DieilTee

o
WEAA

=
Ho
m_ai».*u:
@@ugm
moﬂﬂm“m_mm_.». =
=2 R
.._A.%_A_oa.gﬂgmozogg . o
umw.mw;fmi:gi+ :
0 - <= jor i | s | < ..M._ o Kir Ho po| X| = N il
Mo | | & oo H & o | | < | = | f fir | HO = | X B < 0
H 31 | or 3 | < < [EREC) dr = < o | < Kir Ho Ho “n.___ | < K s
ﬂn_omhmy%..xuoh_z;ﬁﬂ*..r____».mﬁt*__.*__.m*__.zo B
noﬂuo .rH_._ﬁ B.ru_ H...M._M.__au._ _.u_m_Aﬂ& =
T o | ¥ Sl TTE] = wr B | = i - | e =1y < | =
oﬁoc.ro____.n_ul... I**_.ﬂﬂ.r___oqt.rl._._aﬂl_ﬁ.r o | A
g0 X gzm__h_o_.u_y .mxjaﬂk*uﬂuhyx o | =
gl " g ol K| ® = ™ ar | 4 ol | o | | ™ Kir -
Y| w ._m_.r_aﬂ_._._suhr_ ﬂﬂa—lm;%%ﬂﬂx._tx__.n_o
RO Ho | 4o = 3 o | & = g N Ao | o al Ko | Kir
- 5l | o 0| © | o ar| M & 5" Mo | & i = = u._ 21| #r i)
= o mammmsuﬂaﬂm;mmgTumu
xao%mom:m_ﬂ_.m_ﬂﬂ._ﬂ.____ﬂg.&oaA____A
ﬂ.ﬁ.umomwuhw_u_._..kl:._._nzomWﬁ
EM»I.HW%@WMEQ./
=& | " .I».u_w_jm_zm
- . i M_l_._tsuhm_usuh
...A__= jor il _LI_L
X = = .1_._._ﬂ_.___
E < | o <! | RO mﬂ_______...o
o i MEAEE: B o |~ M
= b =5
.A_._._s___u._u_aé_u___ru___.r
m_l_._._n_u."ﬂ._ﬂr_nﬂhk
HO-_H_LlrL ﬂ._
(] r_.q.ﬁ..ll_.___._.r 0| zm
._h_.__l_L)._OHNH_AME...
____A_A_._A_olaﬂé_..___
(l—/ﬂ._ LﬂA.—.___._
_tm___pogohaxm___
m___..._"____ _._._Iﬁ Tl | g
<0 wo.rx._._.ﬂ Tl | 3
E“Ao = 0| %
= o_.n_...ﬂg A=._.r
o_"ﬂxo____aﬂu___a.___
Am___mm.mguu./uw“___ua1mﬁ
R o Bl | %o Wo | 7T x| & | % 3l
AHERE 4 gi__u_;iz
Ho | 31 o8 ®O o | 4 T T [y
FEHT_OHC.I. ofr - _o..._.o.....-_ﬂ
uLI._n_PGm_uHﬂ %0 o0 | 00
7A°=KLD°_____._u_m_m_oq 0| g0 &
ﬁoﬁo _.T..Io____M._o_.._._lu_m_
H-AJI H._Oﬂ ot |
= Am“ﬂ_._m_ulﬁﬂ.".h_._m_ %
fo| Wo| B mﬂnwz ﬂam_ws <l
_A_.a._ﬂo...n__tﬂaﬂ_..._”u_m_m_u |
oy uq._oo|_ﬂhr_w_um_*oﬂ.rﬂ R0 |
RO | % B0 AlE jor o | o o
.—A@OINO-A.LH |ro_.H
g ﬂ.ljxor_m___aﬂﬂr_m_-_.ﬂo
ﬁ.m_._ﬂﬁzm_ho_..ﬁa_.%% o
F uEu_.____n_.__lu_._Um_u._Uﬂ.ﬂu_ﬁ
_._.__.=. sﬂ.rsﬁ ofF or| = &
40 H_ﬂuw_hmﬂutuaﬂa_.
= | SR
3 m_._ﬂéam:ro
m.__..:
ol

imec

A
el




O Al A

=< <

< |x| (M) ||

Ao | Ho s oF
K | K =< Ho o | Ik | =
J}MNA | (| WX w0 ..M._
R R =
B | |om | R0 |0 4| D
0% | O ||| X || M
- |Fo | | F|H| T |F|w | T
T k|| F | F (T
= |= |0 | f0|@0 |||
|z ®IXINE|gR
(] [=] _.I o:. = = © |+
LN R R

ic | o rh | = ™~

| %0 Mo | mo <lo

| A Kk &

i H

—_— I

< |y IR
Mo | R || R R R R R R
oF | <1 | 4o | fof | o | fof | T | mi
<X |T|y|Mojfo|Ao|fdo & T
_ I+ | 1t
EIESEAEAEIESE AR
Kk | =0 | =0 | 20 | §0 | 50 | 20 ) = |
wo | T[T T T A | S| 5
HE o k1]
|

OF-IMPNES]

b

<
< | Ho
|z |=| R Y
< | o |fo| 5| T
BO | g | K| K| &K ol
L 2 R T R A R L
S B Sl VAR IR IO == I I
I
0 R0 | X0 | Z0 m____ ﬂ_AAII
MO | 2o | TE [ Mo | WO L |
OV I &I [ < |mo|Uo|ol
T o w0
o | =
B0 | <0
<l

- U | g
< |zvzn || = | |z
Ho | &Y | & [ w0 | 80| ”I| R
o | <4 | Ko| <1000k
X | T|R|™ |0 || X

ol | /o
(||
— | dHd|d | HdH
R | <1 | ofl | o | ofu | ofu | ohu
Kk o+ T || X | X
s (HEHEIH HH
I8 1 KF | KF | KF | KF | KF | KF
AR - - -

O 7|EFA| A

3
i
* I.-All-l -
= | <
RIS
Gl DK | Ho | ar | Fo | K
RO\ S A | K| =
Bo | KO R BU)up | 20| 0 | Ko | o
IR A
< | — | <0 <l | %o |<F|3d0
Ap%m.ux_.mWEMo
= MU H_._._o O._ .ﬂﬂ MO “_“__I
W4 o | = | o | B | OF | o
Bl x| %o | x| H
il | {0 | RO of | oo
ar| <R IH |
i ok
S
&
o o
i ol o X
< | a|xajnld L8
_u._O ...Auh Mﬂﬂu_lﬁox__o ﬂo.___
ml | | 30| | £ | Ho | oo | Ko
< | F|ou| R0k & o ||
<lo < o
I+
) el
ol Il T (K=
A EAEIE IR
Kk w.m E%m_uﬂ..ﬂ 2| M
e [ ml | = | 30
il %@Mﬁﬁmeﬂ
o ofu
.3

| 30

iiTec

N
Daei




DaeilTec

@ LN LHZ AL

@ LK LHSA}
ANEA: 2= R
S{EHY - I ERX| TR X| 3 <

HEY  YHEEXT

@ UK LHSA}
ASAL EfEHE

Y QAMEIX| 7|

HESN
ASA: =AM
H5y

CMEAl ROt

31 | DaeilTec




AESX| N R

Al S AL KCCHA
bt
=

DOl A7

A

X7 X

| 32

DaeilTec

DMR-S FEUZ A2 AIBAE




c

. et ¥ f Ll
< e

H
HF)
Acli

ITéc

TES IR,
Al S AL BEAHA

g =

A -

33 [ 1)




HE 1 = (BRICKS PANEL) Al ZA}ZI

@ ASALT

A e’
= IjY (BRICK PANEL) A|ZAHZI DaeilTec |34



e YN AOE AN Tt 7|®o| HAG UL

=3 o
[

[ ]
- [ )
o XA ]:H Ol1HE]
MEEYA S0+ SO 2 167 2HYH|EIER BS 12012
TEL) 02-575-9823~4 FAX) 02-575-9014
SHEL TN o2 H 82 100-13
TEL) 043-533-3330 FAX) 043-533-4330




